

**PRICING PAGE REVISED VIA ADDENDUM # 1**

The quantities shown herein are estimated only and the Contractor will be required to furnish all quantities ordered by the City during the period of the contract. – Yes X No       

Delivery to be made to: City of Worcester

This Bid includes addenda numbered 1, 2, 3, ALL

**NO PRICE ADJUSTMENTS ALLOWED. PRICES QUOTED ARE FINAL. CHECK BEFORE SIGNING!**

**BIDDER TO COMPLETE ITEMS BELOW**

**Pricing for Illegal Dumping Cleanup Services - Parks & Other City Locations**

**AWARD TO BE MADE IN THE AGGREGATE. BIDDER MUST BID ALL ITEMS.**

Item #	Estimated Annual Quantity	Unit Measure	Description	Unit Cost	Extended Cost
1	250	Each	Small propane tanks	\$10	\$2,500
2	50	Each	Large propane tanks	\$12.50	\$625
3	150	Ton	Per verified (tipping receipt) ton of trash/debris removed	\$182.50	\$27,375
4	50	Each	Televisions / Large Electronics/ small appliances	\$35	\$1,750
5	50	Each	Tires	\$22	\$1,100
6	100	Each	Shopping carts/carriages/ wheelchairs	\$5	\$500
7	100	Each	Mattresses	\$35	\$3,500
8	100	Each	Box Springs	\$22	\$2,200
9	50	Each	Sofa/furniture	\$15	\$750
10	500	Hour per person	Clean - Park Property including illegal dumping, debris and encampments (this shall include all staff and equipment costs for removal of all materials from a site and transportation of said material to disposal site at Wheelabrator, Millbury, MA)	\$82.50	\$41,250
			TOTAL COST ALL ITEMS -----		\$81,550

TERMS, PROMPT PAY DISCOUNT 2% % 30 DAYS, NET 45 DAYS.

DELIVERY AND/OR COMPLETION TO BE MADE WITHIN 2 DAYS FROM DATE OF NOTIFICATION BY THE CITY.

NAME OF BIDDER Joseph G. Haddad - Haddad Enterprises LLC

**PRICING PAGE REVISED VIA ADDENDUM # 1**

The quantities shown herein are estimated only and the Contractor will be required to furnish all quantities ordered by the City during the period of the contract. – Yes X No \_\_\_\_\_

Delivery to be made to: City of Worcester

This Bid includes addenda numbered 1,2,3

**NO PRICE ADJUSTMENTS ALLOWED. PRICES QUOTED ARE FINAL. CHECK BEFORE SIGNING!**

**BIDDER TO COMPLETE ITEMS BELOW**

**Pricing for Illegal Dumping Cleanup Services - Parks & Other City Locations**

**AWARD TO BE MADE IN THE AGGREGATE. BIDDER MUST BID ALL ITEMS.**

Item #	Estimated Annual Quantity	Unit Measure	Description	Unit Cost	Extended Cost
1	250	Each	Small propane tanks	40	10,000
2	50	Each	Large propane tanks	40	2,000
3	150	Ton	Per verified (tipping receipt) ton of trash/debris removed	275	41,250
4	50	Each	Televisions / Large Electronics/ small appliances	50	2,500
5	50	Each	Tires	30	1,500
6	100	Each	Shopping carts/carriages/ wheelchairs	5	500
7	100	Each	Mattresses	100	10,000
8	100	Each	Box Springs	50	5,000
9	50	Each	Sofa/furniture	5	250
10	500	Hour per person	Clean - Park Property including illegal dumping, debris and encampments (this shall include all staff and equipment costs for removal of all materials from a site and transportation of said material to disposal site at Wheelabrator, Millbury, MA)	200	100,000
			TOTAL COST ALL ITEMS -----		\$ 173,000

TERMS, PROMPT PAY DISCOUNT \_\_\_\_\_ % 30 DAYS, NET 45 DAYS.

DELIVERY AND/OR COMPLETION TO BE MADE WITHIN 2 DAYS FROM DATE OF NOTIFICATION BY THE CITY.

NAME OF BIDDER Mass Trucking Services Inc.

**PRICING PAGE REVISED VIA ADDENDUM # 1**

The quantities shown herein are estimated only and the Contractor will be required to furnish all quantities ordered by the City during the period of the contract. - Yes X No       

Delivery to be made to: City of Worcester

This Bid includes addenda numbered 1

**NO PRICE ADJUSTMENTS ALLOWED. PRICES QUOTED ARE FINAL. CHECK BEFORE SIGNING!**

**BIDDER TO COMPLETE ITEMS BELOW**

**Pricing for Illegal Dumping Cleanup Services - Parks & Other City Locations**

**AWARD TO BE MADE IN THE AGGREGATE. BIDDER MUST BID ALL ITEMS.**

Item #	Estimated Annual Quantity	Unit Measure	Description	Unit Cost	Extended Cost
1	250	Each	Small propane tanks	\$3.00	\$750.00
2	50	Each	Large propane tanks	\$10.00	\$500.00
3	150	Ton	Per verified (tipping receipt) ton of trash/debris removed	\$330.00	\$49,500.00
4	50	Each	Televisions / Large Electronics/ small appliances	\$10.00	\$500.00
5	50	Each	Tires	\$15.00	\$250.00
6	100	Each	Shopping carts/carriages/ wheelchairs	\$10.00	\$1,000.00
7	100	Each	Mattresses	\$25.00	\$2,500.00
8	100	Each	Box Springs	\$5.00	\$500.00
9	50	Each	Sofa/furniture	\$50.00	\$2,500.00
10	500	Hour per person	Clean - Park Property including illegal dumping, debris and encampments (this shall include all staff and equipment costs for removal of all materials from a site and transportation of said material to disposal site at Wheelabrator, Millbury, MA)	\$40.00	\$20,000.00
			TOTAL COST ALL ITEMS -----		\$78,500.00

TERMS, PROMPT PAY DISCOUNT        % 30 DAYS, NET 45 DAYS.

DELIVERY AND/OR COMPLETION TO BE MADE WITHIN 2 DAYS FROM DATE OF NOTIFICATION BY THE CITY.

NAME OF BIDDER Strong-N-Reliable

**PRICING PAGE REVISED VIA ADDENDUM # 1**

The quantities shown herein are estimated only and the Contractor will be required to furnish all quantities ordered by the City during the period of the contract. – Yes X No       

Delivery to be made to: City of Worcester

This Bid includes addenda number # 1,2,3

**NO PRICE ADJUSTMENTS ALLOWED. PRICES QUOTED ARE FINAL. CHECK BEFORE SIGNING!**

**BIDDER TO COMPLETE ITEMS BELOW**

**Pricing for Illegal Dumping Cleanup Services - Parks & Other City Locations**

**AWARD TO BE MADE IN THE AGGREGATE. BIDDER MUST BID ALL ITEMS.**

Item #	Estimated Annual Quantity	Unit Measure	Description	Unit Cost	Extended Cost
1	250	Each	Small propane tanks	\$ 5	\$ 1250
2	50	Each	Large propane tanks	\$ 10	\$ 500
3	150	Ton	Per verified (tipping receipt) ton of trash/debris removed	\$ 300	\$ 45,000
4	50	Each	Televisions / Large Electronics/ small appliances	\$ 10	\$ 500
5	50	Each	Tires	\$ 20	\$ 1000
6	100	Each	Shopping carts/carriages/ wheelchairs	\$ 10	\$ 1000
7	100	Each	Mattresses	\$ 40	\$ 4000
8	100	Each	Box Springs	\$ 5	\$ 500
9	50	Each	Sofa/furniture	\$ 50	\$ 2500
10	500	Hour per person	Clean - Park Property including illegal dumping, debris and encampments (this shall include all staff and equipment costs for removal of all materials from a site and transportation of said material to disposal site at Wheelabrator, Millbury, MA)	\$160	\$ 30,000
			TOTAL COST ALL ITEMS -----		\$ 86250

TERMS, PROMPT PAY DISCOUNT 0 % 30 DAYS, NET 45 DAYS.

DELIVERY AND/OR COMPLETION TO BE MADE WITHIN 2 DAYS FROM DATE OF NOTIFICATION BY THE CITY.

NAME OF BIDDER Bumblebee LandScaping LLC

**PRICING PAGE REVISED VIA ADDENDUM # 1**

The quantities shown herein are estimated only and the Contractor will be required to furnish all quantities ordered by the City during the period of the contract. - Yes X No       

Delivery to be made to: City of Worcester

This Bid includes addenda numbered 1, 2

**NO PRICE ADJUSTMENTS ALLOWED. PRICES QUOTED ARE FINAL. CHECK BEFORE SIGNING!**

**BIDDER TO COMPLETE ITEMS BELOW**

**Pricing for Illegal Dumping Cleanup Services - Parks & Other City Locations**

**AWARD TO BE MADE IN THE AGGREGATE. BIDDER MUST BID ALL ITEMS.**

Item #	Estimated Annual Quantity	Unit Measure	Description	Unit Cost	Extended Cost
1	250	Each	Small propane tanks	\$5.00	\$1,250
2	50	Each	Large propane tanks	\$20.00	\$1,000
3	150	Ton	Per verified (tipping receipt) ton of trash/debris removed	\$165.00	\$24,750
4	50	Each	Televisions / Large Electronics/ small appliances	\$80.00	\$4,000
5	50	Each	Tires	\$12.00	\$600
6	100	Each	Shopping carts/carriages/ wheelchairs	\$25.00	\$2,500
7	100	Each	Mattresses	\$85.00	\$8,500
8	100	Each	Box Springs	\$60.00	\$6,000
9	50	Each	Sofa/furniture	\$75.00	\$3,750
10	500	Hour per person	Clean - Park Property including illegal dumping, debris and encampments (this shall include all staff and equipment costs for removal of all materials from a site and transportation of said material to disposal site at Wheelabrator, Millbury, MA)	\$75.00	\$37,500
			TOTAL COST ALL ITEMS -----		\$ 89,850

TERMS, PROMPT PAY DISCOUNT 5 % 30 DAYS, NET 45 DAYS.

DELIVERY AND/OR COMPLETION TO BE MADE WITHIN 2 DAYS FROM DATE OF NOTIFICATION BY THE CITY.

NAME OF BIDDER Michael Ori, Eagle Eye Contracting

**PRICING PAGE REVISED VIA ADDENDUM # 1**

The quantities shown herein are estimated only and the Contractor will be required to furnish all quantities ordered by the City during the period of the contract. – Yes X No       

Delivery to be made to: City of Worcester

This Bid includes addenda numbered 1, 2, 3

**NO PRICE ADJUSTMENTS ALLOWED. PRICES QUOTED ARE FINAL. CHECK BEFORE SIGNING!**

**BIDDER TO COMPLETE ITEMS BELOW**

**Pricing for Illegal Dumping Cleanup Services - Parks & Other City Locations**

**AWARD TO BE MADE IN THE AGGREGATE. BIDDER MUST BID ALL ITEMS.**

Item #	Estimated Annual Quantity	Unit Measure	Description	Unit Cost	Extended Cost
1	250	Each	Small propane tanks	50-	12,500
2	50	Each	Large propane tanks	250-	12,500
3	150	Ton	Per verified (tipping receipt) ton of trash/debris removed	400-	60,000
4	50	Each	Televisions / Large Electronics/ small appliances	60-	3,000
5	50	Each	Tires	50-	2,500
6	100	Each	Shopping carts/carriages/ wheelchairs	40-	4,000
7	100	Each	Mattresses	75-	7,500
8	100	Each	Box Springs	75-	7,500
9	50	Each	Sofa/furniture	50-	2,500
10	500	Hour per person	Clean - Park Property including illegal dumping, debris and encampments (this shall include all staff and equipment costs for removal of all materials from a site and transportation of said material to disposal site at Wheelabrator, Millbury, MA)	175-	87,500
			<b>TOTAL COST ALL ITEMS -----</b>		<b>\$ 199,500</b>

TERMS, PROMPT PAY DISCOUNT 0 % 30 DAYS, NET 45 DAYS.

DELIVERY AND/OR COMPLETION TO BE MADE WITHIN 2 DAYS FROM DATE OF NOTIFICATION BY THE CITY.

NAME OF BIDDER Duda Dumps LLC